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QUESTION 1
a. An investor’s portfolio is simply her collection of investment assets. Investors make three

c.

(i)
(i)
(ii1)
(iv)
)

f
()
(i1)
(iii)

types of decisions in constructing their portfolios. Differentiate among asset allocation,
security selection and security analysis. (6 marks)

Assume a 13% Swaziland Government security (par value E1000) with a redemption date of
March 15 2029, was quoting a yield to maturity of 8% on March 16 2011. Swaziland
Government Securities pay interest semi-annually. Determine the market price of the 13%
Swaziland security on March 16 20117 (2 marks)

Thandeka Shongwe is considering the purchase of a E100 par value debenture with a 3 year
maturity promising a 11% coupon. If he requires a YTM of 13% on debentures of equivalent
risk and maturity, what does he believe is a fair market price? (2 marks)

Celimphilo Dlamini is considering investing in a bond currently selling for E§78.51. The
bond has four years to maturity, a E1,000 face value, and a 8% coupon rate. The next annual
interest payment is due one year from today. The approximate discount factor for
investments of similar risk is 10%. Calculate the intrinsic value of the bond. Based on this
calculation, should Celimphilo purchase the bond? (3 marks)

In Figure 5-2 find the 5.625 May 08 Treasury bond.

How much does it cost to buy the bond?

If you already owned the bond, how much would a bond dealer pay you for it?

By how much did the price change from the previous day?

What annual interest payment does the bond make?

What is the bond’s yield to maturity? (5 marks)

In Figure 2.2 find the bill that matured on September 9, 2004.

At what price was the dealer willing to sell the bill?

At what price was the dealer willing to purchase the bill?

What is the bid-asked spread? (3 marks)
(Question 1 : Total marks 21)
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UESTION 2

a. Distinguish between a call option and a put option.

(4 marks)
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b. (i) What would be the profit or loss per share of stock to an investor who bought the October
2004 expiration IBM call option with exercise price of $90, if the stock price at the

expiration of the option is $94?
(ii) What about a purchaser of the put option with the same exercise price and expiration?

(2 marks)

{2 marks)

1) Suppose yoﬁ buy 30 January 95 call contracts, how much do these contracts cost you?

ii) Suppose IBM had fallen to $89 per share, would you exercise the option?
iii) Is the call option in the money or out of the money? ‘

iv) What is the value of your options? -

v) How much is your net profit/loss?

(2 marks)
(2 marks)
(2 marks)
(2 marks)
(2 marks)
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(3 marks)

e. Siphesihle Mndzebele is bullish on SRRC stock, which is selling for E120 per share. He has

E15,000 to invest and expects RSSC to go up in price by 25% during the next year. Assume
Siphesihle borrows another E15,000 from a broker and invests it in RSSC too. Assuming an
interest rate on the margin loan of 10% per year, what will Siphesihle’s rate of return be now

(ignoring dividends) if RSSC stock goes up 25% by year’s end? If it goes down by 25%7 If it
remains unchanged?

QUESTION 3

(12 marks)

(Question 2 : Total marks 33)

Consider the following scenario analysis for calculating measures of prospective portfolio
performance. There are two assets and three states of the economy:

State of Economy Probability of State Rate of Return if Rate of Return if
of Economy State occurs on State occurs on
Stock A Stock B
Recession 0.20 -.15 20
Normal economy 0.50 20 .30
Boom 0.30 .60 40
a. What are the expected returns and standard deviations for these two stocks? (10 marks)

. Suppose you have E20,000 total. If you put E15,000 in Stock A and the remainder in Stock
B, what will be the expected return and standard deviation of your portfolio? (5 marks)

. A stock has a beta of 1.3, the expected return on the market is 14 percent, and the risk-free
rate is 5 percent. What must the expected return on this stock be? (2 marks)

. A stock has an expected return of 14 percent, the risk-free rate is 4 percent, and the market
risk premium is 6 percent. What must the beta of this stock be? (2 marks)

. A stock has an expected return of 11 percent, its beta is .85, and the risk-free rate is 5.5
percent. What must the expected return on the market be? (2 marks)

A stock has an expected return of 17 percent, a beta of 1.9, and the expected return on the
market is 11 percent. What must be the risk-free rate be? (2 marks)

. You own a stock portfolio invested 25 percent in Stock Q, 20 percent in Stock R, 15 percent
in Stock S, and 40 percent in Stock T. The betas for these four stocks are .6, 1.70, 1.15 and
1.34, respectively. What is the portfolio beta? (2 marks)

(Question 3 : Total marks 25)
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UESTION 4

. An individual investor choosing a mutual fund should consider not only the fund’s stated
investment policy and past performance, but also its management fees and other expenses.
Distinguish among front-end load, back-end load and operating expenses. (6 marks)

. The Maziya Equity Fund sells Class A shares with a front-end load of 4% and Class B shares

with 12b-1 fees of .5% annually as well as back-end load fees that start at 5% and fall by 1%
for each full year the investor holds the portfolio (until the fifth year). Assume the portfolio
rate of return net of operating expenses is 10% annually. What will be the value of a E10,000
investment in Class A and Class B if the shares are sold after (i) 1 year , (ii) 4 years, (iii) 10

years? (12 marks)

(iv) Which fee structure provides higher net proceeds at the end of each investment horizon?

(3 marks)
(Question 4 : Total marks 21)
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